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QUIZ
FOLLOWS



(a) 1

(b) 2

arithmetic

14+1=77

97%

O pts




Newton’'s method
for solving €% 4 z2 = 7:

€5xn + 332
(a) Ln — eSTn 2;”

e2%n QC,,% —7
(b) n = 5ed%n 4 2xp,

(d) none of the above

Topic 0530 10 pts



fM =4 f(M=-8
Linear approx. to f(z)
at z = 77

(a)4—-8(x—7)

(b) 7z — 8z + 4

(€)—8+4(z—7)

(d) none of the above
0%

4%|2%

_ L 2. 3 47
Topic 0540 10 pts



2157 = (5)(in5)
L 2 T
/a: 4+ 5% gy = 77

3 rz+1
5
(a) =+ e
3 x4+ 1 8904

(b) 2z + (5%)(In5) + C

3 5

() “+>—+cC

3 In5

(d) none of the above

Topic 0570 10 pts



nth left endpt Riem. sum

1] 1.14G/m)
(2) jgl ['”’] { | for /12 e’ dx

n 1 N (1 /m
(b) j;l [ﬁ] {el—l—(J/n) (1/ )} o

~ 1 (j/n)—(1/(2n))
(c) j;l [n] [ 1+G/m =1/

(d) none of the above

Topic 0590 10 pts



iU:(5t~°’—|—2t—1)alt

dx

74%

(b) 5¢3 + 2t — 1

(c) 5x3 4+ 22— 1

(d) none of the above

Topic 0620 10 pts



n
ALY (557 425 — 1)
=1

L] _

(a) 5n3 4+ 2n—1

100%

(b)5(n+1)3+2(n+1) -1

() XD 4t 1)

(d) none of the above

11
Topic 0070 10 pts



42

o ; U s dt}

(3) - [(F@)® ~ (F())?]

65%

(b) 2 [(FG®) — (FG2)

() = [(F@®)(5e*) — (F))(21)

(d) none of the above

Topic 0620 10 pts



FO= e ae

(@) (F'(z*))(52*) — (F'(z?))(2x)

70%

(b) (F(z”))(52z") — (F(z?))(22)
(C) (F,(xf))) — (F,(IQ)) 29%

(d) none of the above

Topic 0620 10 pts



L7 4, 7
(a);_/?, v dr ][a:4da:=??

17 4.
(b)§/$d$ 96%

1|7 4.
C) — d
<>4_/3.:c v

(d) none of the above

Topic 0640 10 pts



2T
(a) 0 ]g cos®zdx = 77

(b) 1/2 99%

(c)1

(d) none of the above

Topic 0640 10 pts o
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